Statement Shwoing the Approximate Estimated Cost Involved in Area of Sites By Planning Authorities Reserved for Various Public Purposes.....

		-,					-,
.U.	Site No.		Approx. area in Hectare		Approx. cost of Acqn.Rs.	Acquiring Authority	Remarks
7	2		5	₅	6	7	8
I	× ₁	Primary School & Play ground High School & Play ground					Deleted at the time of republication wixthm u/s 29 of the Act & the area deleted shall be included in Residential appear.
	× 2	High School & Play ground	.01				- do - and the area deleted shall be included in Industria zone.
		→ Public Latrines				, 	Deleted at the time of repub- lication u/s 29 and the deleted area shall be included in Residential zone.
	× 4.	Dispensary					Deleted at the time of Republication u/s 29 of the Act. The deleted area so deleted is simultaneously included in new reservation viz. site No.
							107 for M'pal.Dispensary, Market Water Tank & Kamgar chawl.
	5	Market					- do -
	105	Bus-Stop	0.37	2,20,000/-	81,400/-	Mpl.Cl.	New.site reserved at the time of republication u/s 29 of the Act
	106	Public latrines	0.67	1,92,000/-	1,28,640/-	-do-	- do -
	107	Municipal Dispensary Market, Kamgar Chawl & Water Tank.	2.69	2,20,000	5,91,800	-do-	- do -

112 Labour Welfare Centre &							
Sapad Mrket lication un/sec.29 of Sah. Soc.Itd. Sah. Soc.Itd.	1 : 2	,-,-,-,-,-,-,-,-,-,-,-,-,-,-,-,-,-,-		,	-,-,-,-,-,-,-,-,	-,-,-,-,-,-,-	
Sapad Mrket lication un/sec.29 of Sah. Soc.Itd. Sah. Soc.Itd.		3	4	,-5		7	· 8
109 General Market facility 0.93 2,20,000/- 2,04,600/- -do - -do -	108	Cloth Market	2.64	1,50,000/-	3,96,000/-	The Ichal.	Reserved at the time of r
110 Bus Stop 0,26 1,92,000/- 49,920/- Mpl. Count - do -	*					Kapad Mrket	: lication un/sec.29 of the
111	109		0.93	2,20,000/-	2,04,600/-	-do-	- do -
It reserved at the republication u/s 29 while submitted in the submitted in the foresance of the forest sound to Idaga It for special states and partly a layout It for special states are special states as a special state of the submitted in the forest states and partly a layout It for special states are special states as a special state of the special states are special states as a special state of the special states are special states as a special state of the special states are special states as a special state of the special states are special states as a special state of the special states are special states as a special state of the special states are special states as a special state of the special states are special states as a special state state and special states are special states as a special state special states are special states as a special state special states are special states as a special state special states are special states as a special state submission of plan special states are special states as a special state special states are special states as a special state special states are special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special states. The special states are special states are special states are special	110	Bus Stop	0.26	1,92,000/-	49,920/-	Mpl. Coun1	- do -
Public purpose 113 Extension to Idage	111		1.04	1,92,000	1,99,680 0-	- do -	- do -
113 Extension to Idaga 0.28 1,55,284x Mpl.Cncl. Area vests withthe M Council being partly of T.P.S.Ichalkaranj and partly a layout 1	112					12	Site reserved at the time republication u/s 29 is d while submittoning the plan
Council being partly of T.P. S. Ichalkaranj and partly a layout 1.43 75,000/- 1,07,250/ do - 7 School & Flay ground 1.15 1,00,000/- 1,15,000/ do - 8 Open space 1.91 62,000/- 1,19,375/ do - 9 Shopping & Municipal Offices 1.19 1,00,000/- 1,19,000/ do - Designation of the schanged at the time lication of Dev. Flan 10 Rehabilitation of Slum	117	Futoncian to Idean	0.20	4-65-904-		Mal Carl	/
1.43 75,000/- 1,07,250/ do - School & Play ground 1.15 1,00,000/- 1,15,000/ do - 8 Open space 1.91 62,000/- 1,19,375/ do - 9 Shopping & Municipal Offices 1.19 1,00,000/- 1,19,000/ do - Rehabilitation of Slum Designation of the schanged at the time lication of Dev. Plan No Rehabilitation of Slum Deleted at the time cation u/s 29 & included in the submission of plan u 11 Burial ground 1.11 62,500/- 69,375/ do - 12 do 1.52 62,500/- 95,000/ do - Area enlarged at the submission of plan u 13 Rehabilitation of Slum 5.55 1,50,000/- 8,32,500/- Area reduced at the republication u/s 29	11)		0.20	14031244		MPI. ONCI.	Council being partly a proof T.P.S.Ichalkaranji No.
7 School & Flay ground 1.15 1,00,000/- 1,15,000/ do - 8 Open space 1.91 62,000/- 1,19,375/ do - 9 Shopping & Municipal Offices 1.19 1,00,000/- 1,19,000/ do - Designation of the schanged at the time lication of Dev.Plan X 10 Rehabilitation of Slum Dwellers Deleted at the time cation u/s 29 & included at the time cation u/s 29 & included at the submission of plan u 11 Burial ground 1.11 62,500/- 69,375/ do - 1.52 62,500/- 95,000/ do - Area enlarged at the submission of plan u 13 Rehabilitation of Slum Dwellers 15 1,50,000/- 8,32,500/- Dwellers	I 6		1.43	75,000/-	1,07,250/-	- do -	A control with the second of the second of
9 Shopping & Municipal Offices 1.19 1,00,000/- 1,19,000/ do - Designation of the schanged at the time lication of Dev. Plan X 10 Rehabilitation of Slum Dwellers	7	School & Play ground	1.15	1,00,000/-		- do -	
Changed at the time lication of Dev. Plan Neellers Deleted at the time cation u/s 29 & inclustrial Z 11 Burial ground 1.11 62,500/- 69,375/ do - 12 do - 1.52 62,500/- 95,000/ do - 1.52 62,500/- 95,000/ do - Area enlarged at the submission of plan u 13 Rehabilitation of Slum Dwellers Dwellers Area reduced at the republication u/s 29	\ 8	Open space	1.91	62,000/-	1,19,375/-	- do -	ed Loury and La Meri. F
Dwellers Dwellers	9	Shopping & Municipal Offi	ces 1.19	1,00,000/-	1,19,000/-	- do -	Designation of the site i changed at the time of relication of Dev. Plan u/s
cation u/s 29 & incl College Industrial Z 11 Burial ground 1.11 62,500/- 69,375/ do - 1.52 62,500/- 95,000/ do - 1.52 62,500/- 95,000/ do - 1.52 Rehabilitation of Slum Dwellers Area enlarged at the submission of plan u 1.55 1,50,000/- 8,32,500/- Area reduced at the republication u/s 29	× 10€						Deleted at the time of re
Rehabilitation of Slum 5.55 1,50,000/- 8,32,500/- Area reduced at the republication u/s 29							cation u/s 29 & included College Industrial Zone
Rehabilitation of Slum 5.55 1,50,000/- 8,32,500/- Area reduced at the republication u/s 29	(11)	Burial ground	1.11	62,500/-	69,375/-	- do -	
Rehabilitation of Slum 5.55 1,50,000/- 8,32,500/- Area reduced at the republication u/s 29	(12)	ArGreen Belt. Y	1.52			- do -	Area enlarged at the time submission of plan u/s 30
14 Play ground		Rehabilitation of Slum	5, 55	1,50,000/-	8,32,500/		Area reduced at the time republication u/s 29 of t
17: 110) STOWN - 7007 1,00,000/- 07,000/	14	Play ground	0.89	1,00,000/-	89,000/-	-do -	Designation & area of the

Ary n. e					,-,-,-,-		8
ā.	2.	3	4 	5 	. - . - . - . - . - . - .		-,
	(2 7)	P.G.	0.23	2,00,000/-	46,000/-	Mpl. Council	No. of the Control of
M	1⁄5 16	Open Space Rehabilitation of Slum dwellers Site of Slum Imm	0.60	2,00,000/-	1,20,000/-	- do -	Designation of site changed at the time of republication under section 29 of the Act.
•	17	Parking		 roumany			Deleted at the time of republication u/s 29 of the Act and the area so deleted shall be included in R'tial Zone.
	114	Rehabilitation of Slum dwellers	1.21	1,00,000/-	1,21,000#-	Mpl.Council	New site reserved at the time of republication of Dev. Plan u/s.29.
	115	M' pal purpose & Slaughser House	0.32	82,000/-	26,240/-	-do -	
dele	+33-	Montesary School & Color Municipal Purpose	\$ 0.10	1,00,000/-	10,000/-	- do -	New site reserved at the time of submission of Plan of Govt for sanction u/s 30 of Act.
111	18	Open space					Deleted at the time of republication of plan & shall be included in Resi. Zone.
		g grid Stavil					be Included in west.
	20	Primary School & Play					of the Lower had been also and a second
÷	21	Government Offices &	ું 🖶 કહ	(Control do June 1
	22	Quarters Open Space	,- -				Deteled at the time of rebuplication of Plan u/s29 The area so deleted shall be
		· Lawrence de des de la la constant					included in Resi.Zone.
n 1	07	Open Space	207 Sq	.m. 21.50/sq	1.m 4,450/-	Mpl. Council	
	23 24	Open Space	- 64,58				Deleted at the time of republication u/s 29. The area so deleted shall be included in Resi. Zone.

							447////
 1	·			5	6		··
111	25	High School & Play	1.16	1,50,000/-	1,74,000/-	Mpl.Council	
V	26	Rehabilation of Slum dwellers.					Deleted at the time of rep- publication of plan u/s 29 and included in Resi. Zone.
M' 22	27	Cremation ground & Post martum Cremation ground & Post Martum	0.16	1,00,000/-	1,60,000/-	Mpl.Council	Designation of the site is changed at tthe time of republication of Plan u/s 29 from Cremation ground to Cremation ground & Post Martum.
	28	Housing for dishoused	0.82	1,50,000/-	1,23,000/-	- do -	Eastern portion of the site is deleted from reservation at the time of republication of the Plan u/s 29
	29	Open space					Deleted at the time of submission of Plan u/s 30 of the Act.
. IV	30	Bus + Stand	- 				Deleted at the time of re- publication of Plan u/s 29 of the Act. The daleted area shall be included in resi.zone
	31	Public Latrines	206 sq.m	16 /- sq.p	3,296/-	Mpl.Council	Designation changed from Washing place to Public latrines at the time of republic of the Plan u/s 29
			0.40	1,00,000/-	1,10,000/-	- do -	
	32	-			•	- do -	4
1	> 33	Burial ground for lingayat samaj	0.45	75,000/-	33,750/-	- 40 -	
~	34	<u>~</u>	0.42	1,00,000/-	42,000/-	- do -	The area of the site reduced by deleting the western portion at the time of re- publication of plan u/s 29

		à					(X HZ)
1	2	3	4	5	6	7	8
IA	35	School & Play ground	0.5)	2,00,000/-	1,00,000/-	Mpl.Council	
	36	Garden	0.41	2,00,000/-	84,000/-	- do -	
	37	Vegetable Market					Deleted at the time of republication of plan u/s 29 & the area included in resistant
<i>y</i> -	38	Municipal Rest House	300 sq.r	32/-sq.m	9,600/-	Mpl.Council	
	116	Municipal purpose	333 sq.m	17.50/-sq.m	5,828/-	- do -	New site reserved at the time of republication of Plan under sec. 29 of the Act.
- /	117	Public latrines	0.25	1,00,000/-	25,000/-	- do -	New site carved out atxans timexts from site 34 reserved for Open space at the time of republication of Plan
	118	Montesary School	0.05%	~			A site introduced at the time of republication of plan has been deleted at the time of submission of plan u/s 30 of the Act.
	39	Lawn	5.50	30/-sq.m.	16,500/-	Mpl.Council	The site is enlarged at the time of republication of Plan
	40	Govt.Offices & quarters	~ ,			,	Deleted at the time of republication of Plan.
	41	Open Space	700 sq.m.	21.50/sq.m.	21150050/-	Mpl.Council	
	42	Open Space	300 *	21.50/sq.m	6,450/-	- do -	
	43	Community Centre		-		·	Deleted at the time of republication of Plan u/s 29 and area included in Resi. Zone.
$\left[\frac{M}{11}\right]$	44	Rehabilitation of B.C. people of Takawade Wesh Housing the dishouse	1.20 d	1,00,000/-	1,20,000/-		The designation of the site and its area is changed at the time of republication of the plan u/s 29.

IV	45	Open Space	4.900 sq.m	16/-sq.m.	78,400/-	Mpl.Council	
<u>-</u> :	46	Open Space					Deleted at the time of republication u/s 29 of the Act.
	47	School & Play ground	1500 sq.m	11/-sq.m.	16,500/-	Mpl.Council	Designation of site from Play ground to School & Play ground changed at the time of republication of Plan ats 29 of the Act.
	48	Washing Place	174 sq.m	11/-s <u>p</u> .m	1,914/-	- do -	
L	49	Primary School	1200 sq.m	21.50	10,750/-	- do -	The designation of site changed from Open space Primary School at the tiof republication of Plan
	50	Childrens Play ground	500 sq.m	21,50/-sq.m	10,750/-	- do -	
	<u></u> 51	Primary School	400 sq.m	16/-sq.m	6,400/-	- do -	
	52	Open Space	1421 sq.m	21.50/-sq.m.	30,552/-	- do -	
	119	_Drainage Disposal /	0.24 1	,10,000/-	26,400/-	- do -	New site reserved at the time of republication of the Plan u/s 29 of the
	120	Picnic Centre & Water V	0.84	10,000/-	8,400/-	- do -	- do -
٧	53	Open Space					Deleted at the time of republication of Plan u,
	54	Slum Improvement	5400	16/-sq.m	86,400/-	Mpl.Council	
	55	Open Space					Deleted at the time of submission of Plan u/s of the Act.
	56	_Public Latrines	300 sq.m	21.5/-sq.,	6,450/-	Mpl.Council	

			Pred	pile			HTTI -
	2	3	4	5	6	7	8
V ,	57	Public Urinals	30.4 sq.m	21.5	654/-	Mpl. Council	
/	4 58	_Parking	200 aq.m	21.5/sq.m	4,300/-	- do -	
7	59	Primary Schol	2100 sq.m	27.0/sq.m	56,700/-	- do -	The second of the second of the second
7	60	Wrestling Aena/	2900 sq.m	27/sq.m	78,300/-	- do -	2012 United the 120 St. 100 Sec.
	61	Vegetable rarket	1800 sq.m	27/sq.m	48,600/-	- do -	Designation of site change
							from Cultural centre to Veg. Market at the time of submission of plan.
. 7	62	Drama Thratre	1.25		1. <u>12.</u> 600/4 		Reservation from T.P.S. Ichalkaranji No.I. Land vests with the MplCouncil
	63	Cultural Centre & Vedpatshala	2100 sq.m	27/-sq.m	54,700/-	Mpl.Council	The designation of thesis is changed from community Centre at the time of
1		had and			10. B3. J.		republication of Plan.
10/ >	64	Library Central Library	2600/sq.m	27/-sq,m	70,200/-	- do -	
	65	Mpl.Offices & Godowns	0.50	2,70,000/-	1,35,000/-	- do -	Designation of site chan from Market at the time republication of Plan u/29 of the Act.
	66	Prinary School	0.87	2,70,000/-	2,34,900/-	- do -	Area of thesite reduced at the time of republica of the Plan at 29 of Ac
	67	Lawn	0.40	50,000/-	20,000/-	- do -	- do -
~	68	Extension to Primary School	249 sq.m	27/sq.m	6,723/-	- do -	
	69	Parking	 1 1				Deleted att hetime of submission of Plan u/s 29 & deleted area shall be included in Resi. zone.

12		<u>4</u>		6 4	 7	1481121
₹ √70	Extension to Primary School				<u></u>	Deleted at the time of submission of the Plan. u/s. 30
121	Balkrishna Sangeet Sadhana Mandal	0.045	3,00,000/-	12,900/-	B.S.S.Mandal	New site. Reserved at the time of republication of Plan under sec.39 of Act.
122	Municipal Gymkhana	0.43	3,00,000/-	1,29,000/-	Mpl.Council	- do -
123	Ichalkaranji Gymkhana	0.24	3,00,000/-	72,000/-	Ichalkaranji Gymkhana	- do -
124	Municipal & Govt.offices	1.47	2,50,000/-	3,67,500/-	Mpl.Council	- âo -
M/125	Shopping Centre	0.24	35/-sq.m	84,000/-	– do –	- do -
√I 71	Market, Office building & Municipal Rest House	1200 sq.	m43/-sq.m	51,600/-	- do -	Designation changed at the time of publication of Plaus 29 from Fruit Market
√ 72	Parking	600 sqm.	38/-sq.m.	22,800/-	- do -	
73	Garden	efeted.		,		Deleted at he thme of republication u/s 29 and the area included in the Resi.Zone.
74	Parking & Kimder Garten school		m 38/-sq.m	45,600/-	Mpl. Council	The area of site No.74 is reduced and the designation changed from Parking during submission of the Plan
√ 75 Stad	lium, Offices & shopping on road side.	2.80				TPS No.I reservation.Land vests in Municipal Council Designation changed from stadium at the time of republication of the Plan u/s 29 of the Act.

-,-	2	3	4	5	6	7	8
?	76	Primary School			-		Deleted at the time of republication u/s.29 of
							the Act and the area deleted shall be included in Residential zone.
	76/1	A Dispensary			-		- do -
t -	77	Dispensary & Maternity Home	4100 sq.m.	16/Sq.m.	65,600/-	Mpl.Council	
	78	Dispensary (u/s 29)				· ·	Deleted at the time of submission of the Plan. u/s 30 of the Act.
. -/	7 9	Weekly Bazar	0.85	1,00,000/-	85,000/-	Mpl.Council	Redesignated from Primary School at the time of republication u/s 29
	126	<i>— }</i>	185 sq,m	35/-sq.m	6,475/-	- do -	New site reserved at the time of republication of the Plan u/s 29
8,	80	Rehabilitation of slum dwellers	1.65	1,00,000/-	1,65,000/-	- do -	Site is enlarged at the time of republication.
	81	Recreation Centre	600 sq.m	×			T.P.S.No.I reservation
	82	Public latrines & Municipal purpose.	600 sq.m	. 7	-		T.P.S.No.I reservation
	83	Housing for Dishoused	1.17	2,00,000/-	2,34,000/-	Mpl.Council	Area is slightly changed at the time of repunlica of Plan u/s 29 and redes
					- "g d"# •		gnated from Slum dweller Rehabiliatation st the t of submission u/s 30
	84	Library		 ,	***		Deleted u/s 29 and the a shall be included in Residential Zone.

VII	85	Dispensary		777 <u></u> -		•	D eleted at the time of submission of Plan.u/s 30
	86	Housing for Dishoused	0.63	1,50,000/-	94,500/-	Mpl.Council	Area reduced at the time of republication of Plan and redisignated from High School & Play ground.
	87	Police Parade Ground	2.11	1,00,000/-	2,11,000/-	Police Dept.	
	127	Garden					Reserved at the time of
	, _ ,						republication-Deleted at the time of submission of the plan u/s 30
VIII	88	Octroi Naka & Quarters	900 sq.m	11/-Sq.m.	9,900/-	Mpl.Council	
	≯89	Primary School & Play ground	1.14	1,50,000/-	1,71,000/-	- do -	
M 13	90	Extn. to Kanyashala	4900 sq.m.	32/sq.m	1,56,800/-	- do -	Redesignated from Play ground tat the time of republication of Plan u/s2
	91	Telephone Exchange	3800	32/-sq.m.	1,21,600/-	P&T. Dept.	
	92	Police Station	4000sq.m	32/-sq.m.	1,28,000/-	Police dept.	
	93	Mpl. purpose Rest House	4.18	2,00,000/-	8,34,000/-	Mpl.Council	Redesignated from Govt.& Municipal purpose at the
				•			time of republication of Plan u/s 29.
M	94	General Hospital &	1.97	2,00,000/-	3,94,000/-	- do -	Area reduced at the time of republication of Plan
2	To s		F.P.NO. 629/C)G	↓			u/s 29 of the Act.
		•	deleted.				

 -!	2	 	4	5	6 6	 ?	
VIII 95	5	Shopping Centre & Market	4100 sq.m.	27/-sq.m	1,10,700/-	Mpl.Council	Area changed at the time of republication u/s 29
9		Extension to College	0.32	2,00,000/-	64,000/-	Vivekanand Shikshan Sanstha.	- do -
M - 1	20	Municipal purpose Fartly deleted	0.45	2,50,000/-	1,12,500/-	Mpl.Council	New site reserved at the time of republication of the Plan u/s 29
. 1	29	Public Latrines	6.7 Arcs	2,00,000/-	13,400/-	- do -	- do -
1	30 -	Primary Schools	1.47	2,00,000/-	2,94,000/-	- do -	- do -
IX 9	』 こ	High School & Play	arey v 2 3 - 12 c M _{artha}				Deleted at the time of republication of the Plan under section 29 of the Act.
MIL	98	Materialy Hospital		e <u>Li</u> han	2	(two parents of a congrue	
16	99 \	Primary School out	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	_		1,6,509/4 1 704,6674	do
<u>ک</u> ا	100	Maternity Home & Dispe			***		- do -
1	101	Sub-Market yard	9.92	25,000/-	2,48,000/-	Vadgaon A.P.M.C.	
1	102	Rehabilitation for slum dwellers	12.58	20,000/-	2,51,600/-	Mpl.Council	
1	103		10.33	12,500/-	1,29,125/-	- do -	
M 1	104	HIGH School & Mpl. purpose	7.07	12,500/-	88,375/-	- do -	Designation is changed from Timber Market at the time of republication u/s
Mored	131-	High School	12.55	25,00%	3,13,750/-	- do -	New site reserved at the tof republication ups 29
M B beloked		Deleted & included i Site NO.114		2,75,00/-	1,67,750/-	- d p -	- do -

Total Wost of Acquisition = Rs, 1,08,05,172

There are in :11 92 sit s at the time of submission of the Development Flan under section 30 to Government for sanction.

The liabilities of different acquiring bodies to ards the cost of acquisition of le is as follows.

1.	Ichalkaranji Municipal Council	=	hs.	93,47,072/-	(sites except as at sr,no.2 to 7)
2.	Police Department	-	Ms.	2,39,000%-	(site Nos. 87 & 92)
3.	Post & Telegraph Department	=	Rs.	1,21,600/-	(Site No. 91)
4.	College Authorities	=	Rs.	64,000/-	(Sitr No.96)
5.	Vadgaon A.P.M.C.	=	Rs.	2,48,000/-	(Site no. 101)
6.	The Ichalkaranji Kapad Market Sahakari Society let.	=	Rs.	6,00,600/-	(Site Sos.108 - 100)
7.	Misc.	=	Rs.	84,900/-	(Site Lot. 121 & 123)

